Test #1a Concepts Review

An Arc Created from Rotation of a Ray 
· Standard Position
· Terminal Side

· Terminal Point

· Quadrant Angles (your book doesn’t mention; but these are multiples of π/2)
· 0, π/2, π, 3π/2, 2π & their “coterminals”; n • π/2
· Unit Circle Terminal Points
· Terminal Points for Important Arcs in QI

· π/6 , π/4 , π/3
· Know from relation to symmetry & Pythagorean Thm, Special ∆ Ratios, Memory on Unit Circle

· Reference #’s; t-bar 
· QI: t-bar=t & QII: t-bar=π – t & QIII: t-bar=t – π & QIV: t-bar= 2π – t
· Negative too
6 Trig F(n)

· Definitions

· In Terms of x, y & r

·   y   ,   x   ,   y   ,   x   ,   r   ,   r   


      r        r        x       y        x       y

· In Terms of opposite, adjacent & hypotenuse

· opp   ,    adj    ,    opp   ,   adj   ,   hyp   ,   hyp   


  hyp        hyp         adj        opp       adj        opp
· Unit Circle Relationship

· (cos s, sin s) are points on circle 
· Quadrant Angles (your book doesn’t mention; but these are multiples of π/2)
· Values of Sine, Cosine & Tangent (or other 3 too)

· Reciprocal Identities
·   1    ,     1     ,     1    ,    1    ,    1    ,    1    

  csc       sec         cot       tan       cos        sin
· Quotient Identities (your book makes a distinction here with reciprocal identities)
· sin t   = tan t,   cos t   = cot t
  cos t                 sin t

· Signs in 4 Quadrants
· All Students Take Calculus to remember which positive
· QI (+, +), QII (–, +), QIII (–, –), QIV (+, –) and therefore in QI all +/+ = +, in QII anything involving y will be negative and while all else will be positive (see def. in terms of x, y & r), in QIII anything involving x or y will be negative & only those involving both x & y will be positive, in QIV anything involving y will be negative 
· Ratios of 2 Special Right Triangles

· 30/60/90  ratio of sides 1:√3:2

· 45/45/90  ratio of sides 1:1:√2

· sin, cos, tan, cot, sec, csc in terms of opp/hyp/adj using ratios
· Pythagorean Identities 
· sin2 t  +  cos 2 t  =  1, tan2 t  +  1  =  sec2  t, 1 + cot2 t = csc2 t
Relating Trig F(n) & Terminal Points

· Finding 6 Trig F(n) from P(x, y)
· Given a terminal point find r using the Pythagorean Theorem
· Use definitions of trig f(n) to find or reciprocal identities

· Use Pythagorean Identities to find other trig f(n)

· Given a trig f(n) value & quadrant information find other values

· Use Pythagorean Theorem & Reciprocal/Quotient Identities

· Use Pythagorean Identities

Finding Trig F(n) Values
· Finding Exact Values

· See Last Topic Heading

· Finding Approximate Values using a Calculator

· Round off is 6 decimals

· One f(n) value in terms of another

· Using Pythagorean Identities

Graphing Trig F(n)

· Sine & Cosine

· General Shape & Fundamental Cycle
· Translation from Fundamental Cycle
· Reflection & Others as discussed from Algebra

· Period, Amplitude, and Phase Shift
· Identification of each from equation & in a graph
· Equation from graph 

· Tangent, Cotangent, Secant & Cosecant
· Recognition of Graph

· Identification of  Period, Amplitude, and Phase Shift

· Identification of each from equation &
The following problems are from the Review & Test for Ch. 5 in your text, Precalculus: Mathematics for Calculus, 5th & 6th ed, Stewart, Redlin, Watson. Although there is not necessarily a one-to-one correspondence between the concepts and the examples, if you know the above concepts you should be able to answer all the following questions.

#1
Find y for (√11/6, y) on the unit circle in QIV

#2
Give the terminal point on the unit circle for: a) π/3   b) 3π/4   c) 7π/6
#3
Give the reference #, t-bar for: a) t = 3π/4   b) t = -π/3   c) t = 5π/3   d) t = - 7π/6   e) t = 9π/2
#4
Find exact value of the 6 trig f(n) for: a) t = 2π/3   b) t = -11π/4   c) t = 7π/6   

#5
Give sin t, cos t & tan t for the P on the unit circle: a) (-√3/2, 1/2)   b) (3/5, -4/5)

#6
Given the scenario find the sin t & cos t


a)
sec t = -5 in QII

b)
cos t = -3/5, tan t < 0

#7
For P(x, 4/5) on the unit circle in QII, find sin t, cos t, tan t & sec t

#8
Find the exact values of: a) sin 7π/6   b) cos 13π/4   c) tan (-5π/3)   d) csc 3π/2   
#9
Find the approximate value of: a)  sin 2.3   b)  cos -1.9   c)  sec 1.1   d) cot 4.9

#10
Express tan t in terms of sin t in QII
#11
Graph on their fundamental cycle: a) y = sin 1/2 x   b) y = 10 cos x   c) y = -cos x   


d) y = tan πx  e) y = sin (2x – π/2)

#12
Find the period, amplitude and phase shift of each:


a) y = -5 cos 4x   b) y = 2 sin (1/2 x – π/6)   c) y = tan (2x – π/2)

#13
Do problems #37-40 p. 456 in Edition 5 or #37-40 p. 424-425 in Edition 6
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